
MATH 316: History of Math Ticket 5 (§2.5-2.6)

Jill’s Solutions

1. Read Burton §2.5-2.6. Summarize the mathematical topics discussed in these sections using
at most two sentences.

Section 2.5 describes division and algebra of ancient Babylonians including the use of tables
of reciprocals and methods of solving systems of equations that are equivalent to quadratic
equations. Section 2.6 Babylonian tables of Pythagorean triples and an Egyptian method for
approximating square roots.

2. Use the table of reciprocals on page 63 to calculate 10 divided by 8.

10÷8 = 10× (7;30) = 70;300 = 1,10;300 = 1,15 = 1;15

3. Use our modern quadratic formula to solve the equation x2 + ax = b and show it is alge-
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First, rewrite the equation as x2 +ax−b = 0. Then, applying the modern quadratic equation
gives:
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if you ignore the negative

square root.

4. Consider the system of equations x+ y = 13
2 and xy = 15

2 .

(a) Solve this system by eliminating one of the variables.

Since y = 15/(2x), plugging into the first equation and re-arranging we get 2x2−13x+
15 = 0. Plugging into the quadratic equation gives x = 5 or x = 3/2. So, {x,y} =
{5,3/2}.

(b) Restate the problem and the solution in terms of semi-perimeter and area of a rectangle.

Suppose we want to find a rectangle with semi-perimeter of 13
2 and area of 15

2 , then we
need one side to be 5 and the other side to be 3

2 .

5. Pick two positive integers m and n such that m > n and m and n are not both even.

(a) Show that x = 2mn, y = m2 −n2 and z = m2 +n2 form a Pythagorean triple.

I picked m = 13 and n = 7, both prime.
Then x = 2(13)(7) = 182,y = (13)2 −72 = 120, and z = (13)2 +72 = 218.
Check (182)2 +(120)2 = 47524 = (218)2.

(b) Is your triple primitive? No. All the numbers are even.
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